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QUESTION 1
You created a RAC database with DBCA and decide to verify it.
The server pool large_db has four servers.

Examine the output shown:

[oraclefprodll ~]% srvctl config database -db sales -all

Database unigue name: cales

Database name: sales

Oracle home: /ull/app/cracle/product/12.1.0/dbh(me 1
Oracle user: oracle

Spfile: 4+FRA/sales/spfilesales.oza
Password file: +FRA/sales\orapwsales
Domain:

Start opticns: open

Step options: immediate

Database role: PRIMARY

Management policy: MANUAL

Server pools: large db

Services: newcus, reports

Type: RAC

Start concurrency:

Stop concurrency:

Database 1s enabled

Database is policy managed

Which two statements are true based on this output? (Choose two.)

A. The sales database resource will be started and the database instances will be started automatically when restarting
the clusterware stack after normal shutdown of the sales database.

B. The sales database resource will be restored to its previous running condition when restarting the clusterware stack
after normal shutdown of the sales database.

C. The sales database resource will be restarted automatically after an instance failure.

D. The concurrency values are not shown because sales in not a RAC One Node database.

E. The concurrency values are not shown because sales has only one of its four instances running.
Correct Answer: BD

Section: (none)
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QUESTION 2

Which three statements are true about opatch version 127?

A. It can apply patches to a database ORACLE_HOME.

B. It can apply a patchset to a database ORACLE_HOME.

C. It cannot apply a patch to a Grid Infrastructure ORACLE_HOME.

D. It cannot run with root privileges on a Unix-like system.

E. It can apply some patches without shutting down database instances.
F. It can only apply patches on the cluster node from where it is issued.
Correct Answer: ACD

Section: (none)

QUESTION 3

Which three statements are true regarding multitenant architecture for RAC databases?
A. One UNDO tablespace for each PDB is required.

B. One UNDO tablespace for each instance is required.

C. PDBs can have local temporary tablespaces.

D. All the containers share the same SYSTEM and SYSAUX tablespaces.

E. You can open one, several, or all PDBs on one, several, or all CDB instances.
Correct Answer: BCE

Section: (none)

B: For an Oracle RAC CDB, one active undo tablespace exists for each instance.

C: From a physical perspective, a CDB has basically the same structure as a non-CDB, except that each PDB has its
own set of tablespaces (including its own SYSTEM and SYSAUX tablespaces) and data files.

References: https://docs.oracle.com/database/121/CNCPT/cdblogic.htm#CNCPT89268

QUESTION 4

Which three statements are true about using ADVM volumes and mounting ACFS file systems from leaf nodes in a Flex
Cluster? (Choose three.)

A. Partitioning ADVM-managed volumes using fdisk or other utilities on a leaf node is not supported.
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B. An ADVM volume cannot be used as a boot device on a leaf node.

C. To use ADVM volumes, an ASM proxy instance is not required on a leaf node.

D. ADVM volumes can be used to store the OCR and voting files to be used by a leaf node.
E. An ADVM volume cannot be used as the root file system on a leaf node.

F. To use ADVM volumes on a leaf node, the oraclesacfs, oracleoks, and oracleadvm drivers must be loaded on all hub
nodes.

Correct Answer: BEF
Section: (none)

Reference: https://docs.oracle.com/database/121/CWAIX/storage.htm#CWAIX561

QUESTION 5

You are administering an ORACLE RAC database with multiple instances. Examine this command executed from the
PROD1 instance which succeeds: CREATE SPFILE FROM MEMORY;

Which statement is true?

A. An SPFILE is created and contains parameter settings only for PROD1.

B. An SPFILE is created and contains parameter settings for all instances.

C. An SPFILE is created for each instance containing instance-specific parameter settings only.
D. An SPFILE is created for each instance and contains parameter settings for all instances.
Correct Answer: C

Section: (none)

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28286/ statements_6016.htm#SQLRF01315
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